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ECONOMICS

Paper : ECO–SE–4014

( Skilled Enhancement Course )

Full Marks : 50

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1×5=5

t°∫π ö¯≈óÏ§‡ππ l°¸v°π [É⁄‡ :

(a) What is the measure of central

tendency?

ÎA°ñÉ¯„⁄ ö¯§ı[v°π ≥‡ö [A°?

(b) Define mode.

§◊∫A°π Œ}`°‡ [É⁄‡°˙

(c) Give the meaning of arithmetic mean.

Œ≥‡îzπ ≥‡ã∏π "=¢ [∫J‡°˙
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(d) Calculate median from the following

data :

t°∫π t°=∏[J[>π öπ‡ ≥‡[ã∏A°„ Ko>‡ A°π‡ :

15, 35, 48, 46, 50, 43, 55, 49

(e) What is dispersion?

[§WÂ°∏[t° [A°?

2. Answer the following questions : 2×3=6

t°∫π ö¯≈óÏ§‡ππ l°¸v°π [É⁄‡ :

(a) Calculate range from the following data :

t°∫π t°=∏[J[>π öπ‡ ö¯Œ‡π Ko>‡ A°π‡ :

22, 35, 32, 45, 42, 48, 39

(b) Mention two advantages of standard

deviation.

≥‡>A° [§WÂ°∏[t°π ÉÂi°‡ ŒÂ[§ã‡ l°¸Ï¿J A°π‡°˙

(c) What is negative correlation?

ò°o‡uA° Œ“Œ¥¨fiÍ° [A°?
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3. Answer any three of the following questions :

5×3=15

t°∫π ö¯≈óÏ§‡ππ [ô ÎA°‡Ï>‡ [t¡[>i¡à¹ l°¸v°π [É⁄‡ :

(a) The data on price and quantity

purchased relating to a commodity for

10 months are given below :

&i°‡ Œ‡≥N¯„ y˚°⁄π Éπ "‡πÁ° ö[π≥‡oπ 10 ≥‡“π t°=∏
t°∫t° [É⁄‡ “í∫ :

Price (R)

ƒ¹ (i°A°‡)
: 10 14 12 11 9

Quantity (kg)

š[¹³ào ([A°.N¯‡.)
: 25 20 30 32 35

Price (R)

ƒ¹ (i°A°‡)
: 7 15 16 18 20

Quantity (kg)

š[¹³ào ([A°.N¯‡.)
: 40 19 16 12 10

Calculate coefficient of correlation

between price and quantity.

Éπ "‡πÁ° ö[π≥‡oπ ≥‡\t° Œ“Œ¥¨fiÍ°π P°o‡}A° Ko>‡
A°π‡°˙

(b) Establish the relationship between

mean, median and mode.

≥‡ã∏, ≥‡[ã∏A°„ "‡πÁ° §◊∫A°π ≥‡\t° Œ¥öA¢° —Ç‡ö> A°π‡°˙
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(c) Distinguish between correlation and

regression analysis.

Œ“Œ¥¨fiÍ° "‡πÁ° Œ≥‡≈¯⁄o [§Ï≈√»oπ ≥‡\t° ö‡=¢A°∏ [>o¢⁄
A°π‡°˙

(d) Point out the properties of regression

coefficient.

Œ≥‡≈¯⁄o P°o‡}A°π ã≥¢Œ≥Ë“ "‡RÂ°[∫⁄‡“¸ [É⁄‡°˙

(e) Write a note on ‘skewness’.

ë"ö¯[t°Œ‡≥∏t°‡íπ *öπt° &i°‡ Îi°‡A°‡ [∫J‡°˙

4. Answer any three of the following questions :

8×3=24

t°∫π ö¯≈óÏ§‡ππ [ô ÎA°‡Ï>‡ [t¡[>i¡à¹ l°¸v°π [É⁄‡ :

(a) Distinguish between mean deviation

and standard deviation.

Kÿl° [§WÂ°∏[t° "‡πÁ° ≥‡>A° [§WÂ°∏[t°π ≥‡\t° ö‡=¢A°∏ [>o¢⁄
A°π‡°˙

(b) The equations of two lines of regression

obtained in a correlation analysis are

given below :

&i°‡ Œ“Œ¥¨fiÍ° [§Ï≈√»oπ Œ≥‡≈¯⁄o ÎπJ‡π Œ≥„A°πo ÉÂi°‡
t°∫t° [É⁄‡ “í∫ :

2 8 3x y= - and ("‡πÁ°) 2 5y x= -

Obtain the value of the correlation

coefficient.

Œ“Œ¥¨fiÍ° P°o‡}A° "‡“πo A°π‡°˙
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(c) Point out the characteristics of an ideal

average.

l°¸;Aı°�° Kÿl°π Ì§[≈�°∏Œ≥Ë“ "‡RÂ°[∫⁄‡“¸ [É⁄‡°˙

(d) Find out the median from the following

data :

t°∫t° [É⁄‡ t°=∏π öπ‡ ≥‡[ã∏A°„ Ko>‡ A°π‡ :

Size

"àA¡à¹
: 10–20 20–30 30–40 40–50

Frequency

¤à¹}¤à¹t¡à
: 42 25 58 40

(e) Two ladies were asked to rank 7

different types of scent. The ranks given

by them are given below :

ÉÂ\>„ ≥[“∫‡A° 7 ö¯A°‡π [§[Æ°ƒ ŒÂK[fiÍ°π y˚°≥‡}A°
A°[π§Ó∫ ÎA°‡Ø‡ Ì“[·∫°˙ Ît°*ÚÏ∫‡ÏA° [É⁄‡ y˚°≥‡}A°Œ≥Ë“
t°∫t° [É⁄‡ “í∫ :

Scents

ÎåK[Þê¡
: A B C D E F G

Neelu

>ãºå
: 2 1 4 3 5 7 6

Neena

>ã>à
: 1 3 2 4 5 6 7

Calculate Spearman’s rank correlation

coefficient.

Î—ö⁄‡πÏ≥>π y˚°≥‡}A°π Œ“Œ¥¨fiÍ° P°o‡}A° Ko>‡ A°π‡°˙

H H H
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